T
MATHEMATICS
(311)
Torerer 3ifera TodiahT U=
TUTOR MARKED ASSIGNMENT

el 3k : 20
Max. Marks : 20

feaoft: () @t g9 P SW 3 A &1 §AF I F HF 9P GET [T 7T B
Note: All questions are compulsory. The marks alloted for each question are given at
same place.
(i) TR YREH & I T8 W FR FI 3R YT 919, TJHHIFH, STIIT H5 H AH
3R fayg T vl 7 feRauy
Write your name, enrollment number, AI name and subject on the top of the first
page of the answer sheet.
1. frafafed w5 9 & & 991 @1 SW I 2

Answer any one out of the following questions.

(@)

(b)

T TE GHE H TH € AN W TE WY TEH S ¢ S99 9 T A NSSUE fewn |
12 frdrfieR 9fa w2 &1 1fa @ S 7 iR @d A9 S65°E fken # 16 frcie ufd
W TR S R R B o F A AE A g Tw i

(M3-5 @)
Two boats leave the same bank of sea at the same time. One goes 12km per hour in the

direction N55°E and other goes 16km per hour in the direction S65°E. Find the distance
between the boats at the end of two hours. (See Lesson-5)

Th Al 47 Wi o A2 H W A IHe FeAl Wed ¢ TR Ihe I ofElE qel
B THS W 3 HiX Afusk B R AR THS 1 W GOl DR THS I o H
T 21 AR I THS F o S IHS K AR ¥ FY Y FH 5 He ifu 7,
T TeH Bl THe I GG =g FAT NI (-9 W)
A man wants to cut three pieces from a single piece of board of length 47m. The second piece
is to be 3m longer than the shortest one and the third piece is to be twice as long as the shortest

piece. What are the possible lenghts of the shortest board if the third piece is to be at least Sm
longer than the second? (See Lesson-9)

2. fTrafafeg go=i 9 9 fodt = 999 =1 s <ifSm 2

Answer any one out of the following questions.

(@)

T WrEfhel HAR T T W T w0 | Th WY Herl ¥F Hid &1 U8l HiEihe e
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(b)

10 Feretreiier 9fd e 1 goM g @ ST 1 SO 9Efee 9aR yug W § 8 faeitis
ufa s # UG Y Her @ IR SHE YR YA S W oIl M 1 1/2
T #1 af% A AEfRd TaR R To wd € @ 9@ ST R gau aEfEa e
forad w2 9% RS WEfed aR 9 oM e S (I3-6 TH)

Two cyclists start together in the same direction from the same place. The first goes with
uniform speed of 10km per hour. The second goes at a speed of 8 km per hour in the first hour
and increases the speed ' km each succeeding hour. After how many hours the second cyclist
overtake the first if both go non-stop? (See Lesson-6)

4 9t S & o w genetl & " faget w WeR fHee T gHU I a9 S
21 T TR T ol ® T U e o o S @ iR ge wieran siffyed w9
" ot 31 3@ whR fftfa gt o % et &1 A w9 wifE) (UB-6 @)
A square is drawn by joining the mid points of the sides of'a square of side 4cm. A third square

is drawn inside the second square in the same way and this process continued indefinitely.
Determine the sum of areas of all the squares. (See Lesson-6)

frafafed g o 9 ot = w91 &1 s s 2

Answer any one of the following questions.

(@)

(b)

FHFN 2x-3y-4 = 0 3R 3x-4y-5 =0 g1 Frefua el ggai & IRR (SHIET) W Tl
BT UH SAfH, THIHWT 6x-7y+8 = 0 5N T1&fud Ug W +7 ¥ &9 T899 § Tg=0
el €1 I9 AT g 99 UK 1 FHEHl 6 S| (T3-14 W)

A person standing at the crossing at two straight paths represented by the equations 2x-3y-4
=0 and 3x-4y-5 = 0, wants to reach a path represented by 6x-7y+8 =0 in least time. Find the
equations of path he should follow. (See Lesson-14)

fag B(1,2) ¥ T S aTell WehTel i Toh {ohT07 x-3181 & fag A W wefda sl @
AR wEfia fwor fag C (5,3) 9 gt St 21 fag A% fdenes s shifs)
(T3-14 W)

A ray of light passing through the point B (1, 2) reflects on the x-axis at point A and the
reflected ray passed through the point C (5, 3). Find the coordinates of the point A.

(See Lesson-14)

frafafea uei 7 9 fodt ©F 999 &1 S difSw) 4

Answer any one of the following questions.

(@)

A x+y? - 6x + 2y — 15 =0 0: fAfHa T wHerg s &1 aowa 9 s
(TB-15 3)
Find the area of an equilateral triangle inscribed in the circle x*+y* - 6x +2y—15=0.

(See Lesson-15)
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(b) TEEE x2=12y & ¥MW & Aera & sifad fageti & oo | o= ot fags =

&hel A hIfST| (WB-16 TH)
Find the area of the triangle formed by the lines joining the vertex of the parabola x*=12y to
the end points of its latus rectum. (See Lesson-16)
5. frafafed weai # 9 ol ™ T &1 SW AT 4

Answer any one of the following questions.

(a) A ¥R B3Al T 99H 318 of@ faere! €1 frefatea < s o o fordent wiftrehan
sAferr 2

@) AB® 4T § 93 H @ B
@ A,B®I 8 Tal ¥ 95 H e Bl

A and B are equally good tennis players. Which of the following two events is more probable?

(i)  Abeats B exactlyin 3 games out of 4.

(i) A beatsB exactly in 5 games out of 8. (See Lesson-15)

(b) T olifers =t @9 HrleH x, y Td z 5@ @1 21 3 wrledl & 9’ | Th ¥d fwa
o foree frefafaa qea ge o 60% SHEET HEwH x 3@l €, 50% HEwH y
@t B SR 47% A z TG Bl 28% SHEEA HREGH x Td y IHI @l €, 23%
SHEET x T8 y 2@ §, 3R 18% SEE y Ud z <@l 21 8% SEEA Al wEHehn
gt ¥ frefated s s
() o wfae SHEEn FEET x U6 y H1 @6 § W FEET 2 H T 3@ €2
() T wfoe SEeEn @A & @ frd o wefen @ T <t 22 (Te8-1 3W)

Atelevision channel is showing programmes x, y and z. A survey has been conducted which
reveals the following facts: 60% of population watch programme x, 50% watch programme y
and 47% watch programme z. 28% watch both x and y programmes, 23% watch both x and
z, 18% watch both y and z, 8% watch all the three programmes. Find the following:

(i)  What percentage of population watch programme x and y but not z?

(i) What percentage of population do not watch any of the programmes? (See Lesson-1)

6. frafafad § ¥ fordl & W 9fEiem IR #ifu) 6
Prepare any one of the following projects?

(a) @9 2016 H W ot et T wh-feadm fohee = w1 ey, fefateg faget =
el SYCTAl Td qerTcHehdl i S9IH el Toh GRASHT dar) shife-

() faefeai & =afeam@a @R HT WG (Range) AA HifeTl
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(b)

() YI® I w1 A faue @R I Fifeu

(i) WeI® W ® fau arfiepd RERaT seT RN dAR ity fSEd efedl Wt wE
! I AU T8 GG T ki G ] dRARAl & ®9 H foan w0 g

(iv) ST IRARAT S RO (9N iii) H1 AFd o i GG 9 9iEu
(T3-17 Q)

Observe a one-day cricket match to be held in the year 2016. Prepare a project report
indicating the performance and comparision with respect to the following ponits:

(i) Range ofthe individual scores of the players.
(i) Compute team wise mean deviation score.

(i) Prepare teamwise grouped frequency distribution tables, showing the number of overs
as class intervals and corresponding scores as frequencies.

(iv) Represent the above requency distribution table (Part iii) with the help of histogrames.
(See Lesson-17)

AT AH-UH HH ¥ ®H 50 IREW w1 ¥4 witwn| Frefafea fogen & 9ve
RIECIEL] ?I?TIT Tﬁﬁﬂl:

() Y F WA T STFHSI H T AWA & &9 H e Hifew)
(i) TRER ®T SAEd ™ | i

(i) SHEEN % WG WX S 3w wufqs, meafas, 3= Aty Eae td sEd
afos & w9 H oW

(iv) TRER Ft 3T T TEO FA Hife

(v) 9 (iii) % THSl Hl 3 oM@ ¥ FEfua Sty
(T3-17 Q)

Conduct a survey at population in your locality taking a sample of atleast 50 families. Prepare
aproject report with respect to the following points:

(i)  Represent the data showing age using class intervals.
(i) Compute the average income of the families.

(i) Literacy level of the population in terms of Elementary, Secondary, Senior Secondary,
Graduation and above.

(iv) Find the variance of the income of the families.
(v) Represent the data in part (iii) with the help of bar graph.
(See Lesson-17)
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